The operator for photon polarization Masatsugu Sei Suzuki, Department of Physics, SUNY at Binghamton (Date: September 08, 2014)

Here we discuss the Hermitian operator for photon polarization. These operators are derived from the projection operators. These operators are closely related to the Pauli matrices for spin 1/2 electron. The rotation operator for the photon polarization will be also discussed.

(horizontal state)

- **1. Basis** $\{|x\rangle, |y\rangle\}$
- (i) Horizontal state $|x\rangle$

$$|x\rangle = |\rightarrow\rangle = |H\rangle = \begin{pmatrix} 1\\0 \end{pmatrix} = 1|x\rangle + 0|y\rangle;$$
$$\hat{P}_x = |x\rangle\langle x| = \begin{pmatrix} 1\\0 \end{pmatrix}(1 \quad 0) = \begin{pmatrix} 1 & 0\\0 & 0 \end{pmatrix},$$
$$\hat{P}_x|x\rangle = |x\rangle\langle x|x\rangle = |x\rangle.$$

(ii) Vertical state $|y\rangle$

$$|y\rangle = |\uparrow\rangle = |V\rangle = \begin{pmatrix} 0\\1 \end{pmatrix} = 0|x\rangle + 1|y\rangle, \qquad (vertical state)$$

$$\hat{P}_{y} = |y\rangle\langle y| = \begin{pmatrix} 0\\1 \end{pmatrix}(0 \quad 1) = \begin{pmatrix} 0 & 0\\0 & 1 \end{pmatrix},$$

$$\hat{P}_{y}|y\rangle = |y\rangle\langle y|y\rangle = |y\rangle,$$

$$\hat{\Sigma}_{z} = \hat{P}_{x} - \hat{P}_{y} = \begin{pmatrix} 1 & 0\\0 & -1 \end{pmatrix}, \qquad (corresponding to the Pauli matrix \hat{\sigma}_{z})$$

$$\hat{\Sigma}_{z}|x\rangle = |x\rangle, \quad \hat{\Sigma}_{z}|y\rangle = -|y\rangle.$$

The commutation relation:

$$[\hat{P}_x,\hat{P}_y]=0,$$

since

$$\hat{P}_x \hat{P}_y = |x\rangle \langle x|y\rangle \langle y| = 0$$
, $\hat{P}_x \hat{P}_y = |y\rangle \langle y|x\rangle \langle x| = 0$.

The kets $|x\rangle$ and $|y\rangle$ are compatible. We note that $|x\rangle$ and $|y\rangle$ are orthogonal and form the complete set of basis.

$$\langle x | y \rangle = 0$$
, $|x \rangle \langle x | + |y \rangle \langle y | = \hat{1}$. (Closure relation, Completeness)

Thus $|x\rangle$ and $|y\rangle$ are the eigenkets of the matrix $\hat{\Sigma}_z$ with the eigenvalues +1, and -1, respectively. $\hat{\Sigma}_z$ can be expressed by

 $\hat{\Sigma}_{z} = \hat{\Sigma}_{z}(|x\rangle\langle x| + |y\rangle\langle y|) = |x\rangle\langle x| - |y\rangle\langle y|.$



Fig. Measurement of $\hat{\Sigma}_z = \hat{P}_x - \hat{P}_y$. $\hat{\Sigma}_z |x\rangle = |x\rangle$. $\hat{\Sigma}_z |y\rangle = -|y\rangle$. The state $|\psi\rangle$ is the superposition of $|x\rangle$ and $|y\rangle$.

2. Basis { $|\theta\rangle$, $|\theta_{\perp}\rangle$ }

(i) Basis $|\theta\rangle$

We define the basis by

$$|\theta\rangle = \begin{pmatrix} \cos\theta\\ \sin\theta \end{pmatrix} = \cos\theta |x\rangle + \sin\theta |y\rangle.$$

The projection operator is defined by

$$\begin{aligned} \hat{P}_{\theta} &= |\theta\rangle \langle \theta| \\ &= \begin{pmatrix} \cos\theta \\ \sin\theta \end{pmatrix} (\cos\theta & \sin\theta) \\ &= \begin{pmatrix} \cos^2\theta & \sin\theta\cos\theta \\ \sin\theta\cos\theta & \sin^2\theta \end{pmatrix} \\ &= \frac{1}{2} \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} + \frac{1}{2} \begin{pmatrix} \cos(2\theta) & \sin(2\theta) \\ \sin(2\theta) & -\cos(2\theta) \end{pmatrix} \\ &= \frac{1}{2} \hat{I}_2 + \frac{1}{2} \Sigma_{\theta} \end{aligned}$$

$$\hat{P}_{ heta} | heta
angle = \langle heta | heta
angle | heta
angle = | heta
angle,$$

where

$$\hat{\Sigma}_{\theta} = \begin{pmatrix} \cos(2\theta) & \sin(2\theta) \\ \sin(2\theta) & -\cos(2\theta) \end{pmatrix}.$$

(ii) Basis $|\theta_{\perp}\rangle$ We define $|\theta_{\perp}\rangle$ as

$$\left. \theta_{\perp} \right\rangle = \left| \theta + \frac{\pi}{2} \right\rangle = \left(\frac{-\sin \theta}{\cos \theta} \right) = -\sin \theta |x\rangle + \cos \theta |y\rangle.$$

The projection operator is

$$\begin{split} \hat{P}_{\theta\perp} &= |\theta_{\perp}\rangle \langle \theta_{\perp}| \\ &= \begin{pmatrix} -\sin\theta \\ \cos\theta \end{pmatrix} (-\sin\theta \ \cos\theta) \\ &= \begin{pmatrix} \sin^2\theta \ -\sin\theta\cos\theta \\ -\sin\theta\cos\theta \ \cos^2\theta \end{pmatrix} \\ &= \frac{1}{2} \begin{pmatrix} 1 \ 0 \\ 0 \ 1 \end{pmatrix} - \frac{1}{2} \begin{pmatrix} \cos(2\theta) \ \sin(2\theta) \\ \sin(2\theta) \ -\cos(2\theta) \end{pmatrix} \\ &= \frac{1}{2} \hat{I}_2 - \frac{1}{2} \hat{\Sigma}_{\theta} \end{split}$$

$$\langle \theta | \theta_{\perp} \rangle = (\cos \theta \quad \sin \theta) \begin{pmatrix} -\sin \theta \\ \cos \theta \end{pmatrix} = 0.$$

 $\hat{P}_{\theta} + \hat{P}_{\theta\perp} = \hat{1}$. (Closure relation, completeness)

$$\hat{P}_{\theta}|\theta_{\perp}\rangle = |\theta\rangle\langle\theta|\theta_{\perp}\rangle = 0, \qquad \hat{P}_{\theta\perp}|\theta\rangle = |\theta_{\perp}\rangle\langle\theta_{\perp}|\theta\rangle = 0.$$

The commutation relation;

$$[P_{\theta}, P_{\theta \perp}] = \begin{pmatrix} 0 & \sin \theta \cos \theta \\ -\sin \theta \cos \theta & 0 \end{pmatrix} = \frac{1}{2} \begin{pmatrix} 0 & \sin 2\theta \\ -\sin 2\theta & 0 \end{pmatrix} \neq 0.$$

We also get the Hermitian operator $\hat{\Sigma}_{\theta}$ as follows.

$$\hat{\Sigma}_{\theta} = \hat{P}_{\theta} - \hat{P}_{\theta\perp} = \begin{pmatrix} \cos(2\theta) & \sin(2\theta) \\ \sin(2\theta) & -\cos(2\theta) \end{pmatrix}.$$

Then we have

$$\hat{\Sigma}_{\theta} | \theta \rangle = (\hat{P}_{\theta} - \hat{P}_{\theta \perp}) | \theta \rangle = | \theta \rangle, \qquad \hat{\Sigma}_{\theta} | \theta_{\perp} \rangle = (\hat{P}_{\theta} - \hat{P}_{\theta \perp}) | \theta \rangle = - | \theta_{\perp} \rangle.$$

Note that $|\theta\rangle$ and $|\theta_{\perp}\rangle$ are orthogonal and form the complete set of basis; $|\theta\rangle$ and $|\theta_{\perp}\rangle$ are the eigenkets of $\hat{\Sigma}_{\theta}$ with the eigenvalues +1 and -1, respectively.

$$\hat{\Sigma}_{\theta} = \hat{\Sigma}_{\theta} \left(\left| \theta \right\rangle \left\langle \theta \right| + \left| \theta \perp \right\rangle \left\langle \theta \perp \right| \right) = \left| \theta \right\rangle \left\langle \theta \right| - \left| \theta_{\perp} \right\rangle \left\langle \theta_{\perp} \right|.$$

We note that

$$\hat{\Sigma}_{\theta} |\theta\rangle = \begin{pmatrix} \cos(2\theta) & \sin(2\theta) \\ \sin(2\theta) & -\cos(2\theta) \end{pmatrix} \begin{pmatrix} \cos\theta \\ \sin\theta \end{pmatrix} = \begin{pmatrix} \cos(2\theta)\cos\theta + \sin(2\theta)\sin\theta \\ \sin(2\theta)\cos\theta - \cos(2\theta)\sin\theta \end{pmatrix} = \begin{pmatrix} \cos\theta \\ \sin\theta \end{pmatrix} = |\theta\rangle,$$

$$\hat{\Sigma}_{\theta} |\theta_{\perp}\rangle = \begin{pmatrix} \cos(2\theta) & \sin(2\theta) \\ \sin(2\theta) & -\cos(2\theta) \end{pmatrix} \begin{pmatrix} -\sin\theta \\ \cos\theta \end{pmatrix} = \begin{pmatrix} -\cos(2\theta)\sin\theta + \sin(2\theta)\cos\theta \\ -\sin(2\theta)\sin\theta - \cos(2\theta)\cos\theta \end{pmatrix} = \begin{pmatrix} \sin\theta \\ -\cos\theta \end{pmatrix} = -|\theta_{\perp}\rangle$$



Fig. Measurement of $\hat{\Sigma}_{\theta} = |\theta\rangle\langle\theta| - |\theta_{\perp}\rangle\langle\theta_{\perp}|$, where $|\theta_{n}\rangle = |\theta_{\perp}\rangle$ for convenience. $\hat{\Sigma}_{\theta}|\theta\rangle = |\theta\rangle$. $\hat{\Sigma}_{\theta}|\theta_{\perp}\rangle = -|\theta_{\perp}\rangle$.

((Note))

Using the Pauli matrices, $\hat{\Sigma}_{\theta}$ can be expressed as

$$\hat{\Sigma}_{\theta} = \cos(2\theta)\hat{\sigma}_{z} + \sin(2\theta)\hat{\sigma}_{x} = \hat{\boldsymbol{\sigma}} \cdot \boldsymbol{n},$$

where $\boldsymbol{n} = (\sin(2\theta), 0, \cos(2\theta))$. We note that

$$|+n\rangle = \begin{pmatrix} \cos\theta\\ \sin\theta \end{pmatrix} = \cos\theta |x\rangle + \sin\theta |y\rangle, \ |-n\rangle = \begin{pmatrix} -\sin\theta\\ \cos\theta \end{pmatrix} = -\sin\theta |x\rangle + \cos\theta |y\rangle.$$

3. **Basis**
$$\left\{ \left| \frac{\pi}{4} \right\rangle, \left| -\frac{\pi}{4} \right\rangle \right\}$$

We define the ket vectors as

$$\left|\frac{\pi}{4}\right\rangle = \frac{1}{\sqrt{2}} \begin{pmatrix}1\\1\end{pmatrix} = \frac{1}{\sqrt{2}} \left(\left|x\right\rangle + \left|y\right\rangle\right),$$

and

$$\left|-\frac{\pi}{4}\right\rangle = \frac{1}{\sqrt{2}} \begin{pmatrix}1\\-1\end{pmatrix} = \frac{1}{\sqrt{2}} \left(\left|x\right\rangle - \left|y\right\rangle\right),$$

We note that

$$\left\langle -\frac{\pi}{4} \middle| \frac{\pi}{4} \right\rangle = \frac{1}{2} (1 - 1) \begin{pmatrix} 1 \\ 1 \end{pmatrix} = 0.$$

The projection operators:

$$\hat{P}_{\pi/4} = \left|\frac{\pi}{4}\right| \left|\frac{\pi}{4}\right| = \frac{1}{2} \begin{pmatrix}1\\1\\1\end{pmatrix} (1 \ 1) = \frac{1}{2} \begin{pmatrix}1&1\\1&1\end{pmatrix},$$
$$\hat{P}_{-\pi/4} = \left|-\frac{\pi}{4}\right| \left|-\frac{\pi}{4}\right| = \frac{1}{2} \begin{pmatrix}1\\-1\end{pmatrix} (1 \ -1) = \frac{1}{2} \begin{pmatrix}1&-1\\-1&1\end{pmatrix}.$$

Then we have

$$\hat{P}_{\pi/4} + \hat{P}_{-\pi/4} = \left|\frac{\pi}{4}\right\rangle \left\langle\frac{\pi}{4}\right| + \left|-\frac{\pi}{4}\right\rangle \left\langle-\frac{\pi}{4}\right| = \begin{pmatrix}1 & 0\\ 0 & 1\end{pmatrix}.$$

(Closure relation, completeness)

The Hermitian operator is defined by

$$\hat{\Sigma}_{x} = \hat{P}_{\pi/4} - \hat{P}_{-\pi/4} = \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix}.$$

(corresponding to the Pauli matrix $\hat{\sigma}_x$)

Then we have

$$\hat{\Sigma}_{x} \left| \frac{\pi}{4} \right\rangle = (\hat{P}_{\pi/4} - \hat{P}_{-\pi/4}) \left| \frac{\pi}{4} \right\rangle = (\left| \frac{\pi}{4} \right\rangle \left\langle \frac{\pi}{4} \right| - \left| -\frac{\pi}{4} \right\rangle \left\langle -\frac{\pi}{4} \right| \right) \left| \frac{\pi}{4} \right\rangle = \left| \frac{\pi}{4} \right\rangle.$$

$$\hat{\Sigma}_{x}\left|-\frac{\pi}{4}\right\rangle = (\hat{P}_{\pi/4} - \hat{P}_{-\pi/4})\left|-\frac{\pi}{4}\right\rangle = \left(\left|\frac{\pi}{4}\right|\right)\left|\frac{\pi}{4}\right\rangle = \left(\left|\frac{\pi}{4}\right|\right)\left|\frac{\pi}{4}\right\rangle = -\left|-\frac{\pi}{4}\right\rangle.$$

Note that $\left|\frac{\pi}{4}\right\rangle$ and $\left|-\frac{\pi}{4}\right\rangle$ are orthonogonal and form the complete set of basis; $\left|\frac{\pi}{4}\right\rangle$ and $\left|-\frac{\pi}{4}\right\rangle$ are the eigenkets of $\hat{\Sigma}_x$ with the eigenvalues +1 and -1, respectively.

Thus $\left|\frac{\pi}{4}\right\rangle$ and $\left|-\frac{\pi}{4}\right\rangle$ are the eigenkets of $\hat{\Sigma}_x$ with the eigenvalues +1, and -1, respectively.



- **Fig.** Measurement of $\hat{\Sigma}_x = \hat{P}_{\pi/4} \hat{P}_{-\pi/4}$. $\hat{\Sigma}_x | \pi/4 \rangle = | \pi/4 \rangle$. $\hat{\Sigma}_x | -\pi/4 \rangle = -| -\pi/4 \rangle$
- 4. The basis $\{|R\rangle \text{ and } |L\rangle\}$

(i) Right- hand circularly polarized photon (clockwise)

$$|R\rangle = \alpha |x\rangle + \beta |y\rangle,$$

where α and β are complex numbers,

$$\langle R|R\rangle = (\alpha^* \beta^*) (\alpha) = |\alpha|^2 + |\beta|^2 = 1.$$

We choose

$$\alpha = \frac{1}{\sqrt{2}}, \qquad \beta = \frac{i}{\sqrt{2}}$$

Then we have

$$|R\rangle = \frac{1}{\sqrt{2}}(|x\rangle + i|y\rangle).$$

(ii) Left-hand circularly polarized photon (counter clockwise) Similarly we get

$$\left|L\right\rangle = \frac{1}{\sqrt{2}} \left(\left|x\right\rangle - i\left|y\right\rangle\right).$$

We note that

$$\langle R|L\rangle = \frac{1}{2} \begin{pmatrix} 1 & -i \end{pmatrix} \begin{pmatrix} 1 \\ -i \end{pmatrix} = 0.$$
 (orthogonal)





Probability of finding the system in the state $|\theta\rangle$;

$$P_{\theta R} = \left| \left\langle \theta \right| R \right\rangle \right|^2 = \frac{1}{2},$$

since

$$\langle \theta | R \rangle = \frac{1}{\sqrt{2}} (\cos \theta - \sin \theta) \begin{pmatrix} 1 \\ i \end{pmatrix} = \frac{1}{\sqrt{2}} e^{i\theta}.$$

It should be noted that this probability $P_{\theta R}$ is independent of θ .

We define the projection operator:

$$\hat{P}_{R} = |R\rangle\langle R| = \frac{1}{2} \binom{1}{i} (1 - i) = \frac{1}{2} \binom{1 - i}{i},$$
$$\hat{P}_{L} = |L\rangle\langle L| = \frac{1}{2} \binom{1}{-i} (1 - i) = \frac{1}{2} \binom{1 - i}{-i},$$

Note that

$$\hat{P}_{R}|R\rangle = |R\rangle, \qquad \hat{P}_{L}|L\rangle = |L\rangle,$$

and

$$\hat{P}_{R} + \hat{P}_{L} = \hat{1}$$
. (Closure relation, completeness)

We define the matrix

$$\hat{\Sigma}_{y} = \hat{P}_{R} - \hat{P}_{L} = \begin{pmatrix} 0 & -i \\ i & 0 \end{pmatrix}, \qquad (\text{corresponding to the Pauli matrix } \hat{\sigma}_{y})$$

with

$$\hat{\Sigma}_{y}^{2} = \hat{1}.$$

Then we have

$$\hat{\Sigma}_{y}|R\rangle = (\hat{P}_{R} - \hat{P}_{L})|R\rangle = |R\rangle, \qquad \hat{\Sigma}_{y}|L\rangle = (\hat{P}_{R} - \hat{P}_{L})|L\rangle = -|L\rangle$$

Note that $|R\rangle$ and $|L\rangle$ are orthogonal and form the complete set of basis; $|R\rangle$ and $|L\rangle$ are the eigenkets of $\hat{\Sigma}_y$ with the eigenvalues +1 and -1, respectively. Thus $|R\rangle$ and $|L\rangle$ are the eigenkets of $\hat{\Sigma}_y$ with the eigenvalues +1 and -1, respectively. We use $\hat{\Sigma}_y$ instead of $\hat{\Sigma}$, because of the similarity with the Pauli matrix $\hat{\sigma}_y$

$$\hat{\Sigma}_{y} = \hat{\Sigma}_{y}(|R\rangle\langle R| + |L\rangle\langle L|) = |R\rangle\langle R| - |L\rangle\langle L|.$$



Fig. Measurement of
$$\hat{\Sigma}_{y}$$
. $\hat{\Sigma}_{y} | R \rangle = | R \rangle$. $\hat{\Sigma}_{y} | L \rangle = -| L \rangle$.

5. Rotation operator

We now consider the rotation operator defined by $\exp(-i\hat{\Sigma}_y\theta)$

$$\exp(-i\hat{\Sigma}_{y}\theta)|R\rangle = e^{-i\theta}|R\rangle, \qquad \exp(-i\hat{\Sigma}_{y}\theta)|L\rangle = e^{i\theta}|L\rangle,$$

since

$$\begin{split} \exp(-i\hat{\Sigma}_{y}\theta) &= \hat{1} + \frac{1}{1!}(-i\theta)\hat{\Sigma}_{y} + \frac{1}{2!}(-i\theta)^{2}\hat{\Sigma}_{y}^{2} + \frac{1}{3!}(-i\theta)^{3}\hat{\Sigma}_{y}^{3} + \frac{1}{4!}(-i\theta)^{4}\hat{\Sigma}_{y}^{4} + \dots \\ &= \hat{1} + \frac{1}{1!}(-i\theta)\hat{\Sigma}_{y} + \frac{1}{2!}(-i\theta)^{2}\hat{1} + \frac{1}{3!}(-i\theta)^{3}\hat{\Sigma}_{y} + \frac{1}{4!}(-i\theta)^{4}\hat{1} + \dots \\ &= \hat{1}\cos\theta - i\hat{\Sigma}_{y}\sin\theta \\ &= \begin{pmatrix} \cos\theta & -\sin\theta \\ \sin\theta & \cos\theta \end{pmatrix} \end{split}$$

This rotation operator can be also derived in a different way.

$$\exp(-i\hat{\Sigma}_{y}\theta) = \exp(-i\hat{\Sigma}_{y}\theta)[|R\rangle\langle R| + |L\rangle\langle L|]$$
$$= e^{-i\theta}|R\rangle\langle R| + e^{i\theta}|L\rangle\langle L|$$
$$= \frac{1}{2}e^{-i\theta} \begin{pmatrix} 1 & -i\\ i & 1 \end{pmatrix} + \frac{1}{2}e^{i\theta} \begin{pmatrix} 1 & i\\ -i & 1 \end{pmatrix}$$
$$= \begin{pmatrix} \cos\theta & -\sin\theta\\ \sin\theta & \cos\theta \end{pmatrix}$$

The rotation operator $\hat{S}(\theta)$ is defined by

$$\hat{S}(\theta) = \begin{pmatrix} \cos\theta & -\sin\theta\\ \sin\theta & \cos\theta \end{pmatrix} = \hat{1}\cos\theta - i\sin\theta\hat{\Sigma}_{y},$$

Note that

$$\hat{S}(\theta)|R\rangle = e^{-i\theta}|R\rangle, \qquad \hat{S}(\theta)|L\rangle = e^{i\theta}|L\rangle.$$

 $|R\rangle$ is the eigenket of $\hat{S}(\theta)$ with the eigenvalue $e^{-i\theta}$, and $|L\rangle$ is the eigenket of $\hat{S}(\theta)$ with the eigenvalue $e^{i\theta}$. Since the eigenket of $\hat{S}(\theta)$ is the same as that of $\hat{\Sigma}_{y}$, we have

$$\hat{S}(\theta)|R\rangle = (\hat{1}\cos\theta - i\sin\theta\hat{\Sigma}_{y})|R\rangle = (\cos\theta - i\sin\theta)|R\rangle = e^{-i\theta}|R\rangle,$$
$$\hat{S}(\theta)|L\rangle = (\hat{1}\cos\theta - i\sin\theta\hat{\Sigma}_{y})|L\rangle = (\cos\theta + i\sin\theta)|L\rangle = e^{i\theta}|L\rangle.$$

If we apply the rotation operator $\exp(-i\hat{\Sigma}_{y}\theta)$ to the ket vectors of the $\{|x\rangle \text{ and } |y\rangle\}$ basis, we get the rotated vectors $|\theta\rangle$ and $|\theta_{\perp}\rangle$.

$$\hat{S}(\theta)|x\rangle = (\hat{1}\cos\theta - i\sin\theta\hat{\Sigma}_{y})|x\rangle = \cos\theta|x\rangle + \sin\theta|y\rangle = |\theta\rangle,$$
$$\hat{S}(\theta)|y\rangle = (\hat{1}\cos\theta - i\sin\theta\hat{\Sigma}_{y})|y\rangle = -\sin\theta|x\rangle + \cos\theta|y\rangle = |\theta_{\perp}\rangle$$

since

$$\hat{\Sigma}_{y}|x\rangle = i|y\rangle, \qquad \hat{\Sigma}_{y}|y\rangle = -i|x\rangle.$$

We also note that

$$\begin{split} |R_{\theta}\rangle &= \hat{S}(\theta)|R\rangle \\ &= \frac{1}{\sqrt{2}}\hat{S}(\theta)[|x\rangle + i|y\rangle] \\ &= \frac{1}{\sqrt{2}}[|\theta\rangle + i|\theta_{\perp}\rangle] \\ &= \frac{1}{\sqrt{2}}[\cos\theta|x\rangle + \sin\theta|y\rangle] + i\frac{1}{\sqrt{2}}[-\sin\theta|x\rangle + \cos\theta|y\rangle] = \\ &= \frac{1}{\sqrt{2}}[\cos\theta - i\sin\theta)|x\rangle + i\frac{1}{\sqrt{2}}(\cos\theta - i\sin\theta)|y\rangle \\ &= \frac{1}{\sqrt{2}}e^{-i\theta}[|x\rangle + i|y\rangle] \\ &= e^{-i\theta}|R\rangle \end{split}$$

$$\begin{split} |L_{\theta}\rangle &= \hat{S}(\theta)|L\rangle \\ &= \frac{1}{\sqrt{2}} \hat{S}(\theta)[|x\rangle - i|y\rangle] \\ &= \frac{1}{\sqrt{2}} [|\theta\rangle - i|\theta_{\perp}\rangle] \\ &= \frac{1}{\sqrt{2}} [\cos\theta|x\rangle + \sin\theta|y\rangle] - i\frac{1}{\sqrt{2}} [-\sin\theta|x\rangle + \cos\theta|y\rangle] \\ &= \frac{1}{\sqrt{2}} [\cos\theta + i\sin\theta)|x\rangle - i\frac{1}{\sqrt{2}} (\cos\theta + i\sin\theta)|y\rangle \\ &= \frac{1}{\sqrt{2}} e^{i\theta} [|x\rangle - i|y\rangle] \\ &= e^{i\theta}|L\rangle \end{split}$$

Thus the ket vectors $|R_{\theta}\rangle$ and $|L_{\theta}\rangle$ differ from $|R\rangle$ and $|L\rangle$ by a phase factor only and they represent the same physical states.

6. Summary

In summary we show a list of basis which is based on the basis $\{ |x\rangle \text{ and } |y\rangle \}$.

$$\left|\theta = \frac{\pi}{4}\right\rangle = \frac{1}{\sqrt{2}} \begin{pmatrix} 1\\ 1 \end{pmatrix} = \frac{1}{\sqrt{2}} \left(\left|x\right\rangle + \left|y\right\rangle\right), \tag{45°}$$

$$\begin{vmatrix} \theta = -\frac{\pi}{4} \\ \rangle = \frac{1}{\sqrt{2}} \begin{pmatrix} 1 \\ -1 \end{pmatrix} = \frac{1}{\sqrt{2}} (|x\rangle - |y\rangle), \qquad (-45^{\circ}) \\ \end{vmatrix}$$
$$\begin{vmatrix} \theta = \frac{3\pi}{4} \\ \rangle = \frac{1}{\sqrt{2}} \begin{pmatrix} -1 \\ 1 \end{pmatrix} = \frac{1}{\sqrt{2}} (-|x\rangle + |y\rangle), \qquad (135^{\circ}) \\ \end{vmatrix}$$
$$\begin{vmatrix} R \\ \rangle = \frac{1}{\sqrt{2}} (|x\rangle + i|y\rangle), \qquad (RHC \text{ photon}) \\ \end{vmatrix}$$
$$\begin{vmatrix} L \\ \rangle = \frac{1}{\sqrt{2}} (|x\rangle - i|y\rangle). \qquad (LHC \text{ photon}) \\ \end{vmatrix}$$

The rotation operator is given by

$$\hat{S}(\theta) = \begin{pmatrix} \cos\theta & -\sin\theta\\ \sin\theta & \cos\theta \end{pmatrix} = \hat{1}\cos\theta - i\sin\theta\hat{\Sigma}_{y}.$$

REFERENCES

- R.P. Feynman, R.,B. Leighton, and M. Sands, *The Feynman Lectures in Physics*, 6th edition (Addison Wesley, Reading Massachusetts, 1977). Part.3 Chapter 11
- M.L. Bellac, A Short Introduction to Quantum Information and Quantum Computation (Cambridge University Press).

Bob Eagle, Quantum Mechanics Concepts: 2 Photon Polarization. <u>https://www.youtube.com/watch?v=zNMzUf5GZsQ</u>

J.J. Sakurai and J. Napolitano, *Modern Quantum Mechanics*, second edition (Addison-Wesley, New York, 2011).

G. Baym, Lectures on Quantum Mechanics (Westview Press, 1990).